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This TMA covers Loz 171 182, TRY and TH3.

Each question 1= marked out of 25, You siould answer all ke gquestions,

Question 1 (nit JB1)

ta)  For each of the theee tilings Ty, Ts, Ta shown hefow:;
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tiat all of g cile types and vertax tvpes;

(a1 seate whecher it is meonchedeal.
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T,

Ome of the tilings 7. T, Ts cannot be drawn by starting with the regular
tiling Fe and subdividing some or all of the tiles. Which ooe is 147

Using the two copies of B on page 10 (or vour own neatly draem copies 1f
vou prefer), subdivide them to produce enlarged eopies of the two tilings
ponnk of Ty, To acud Ty) that can be dravwn in this way,

The figure below depicts a portion of the Laves tiling [3, 6,3, 6] with a
coordinate syvstem superimposed. Four parcicslar ciles Ty, Ty, Ty and T, are
cphastzed, as are four particular vertices A, B, O 0% The scale is chosen so
the coordinates of these vertices are

A=(v3.0),8=1(02).C=(—3,0,0=(0 -3
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